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101 124l 64,000 0 64,000
< 32,000
e 32,000
04 JI2ZtHZ22HEE = 64,000 0 64,000
0 A0 UK (1Z)
2,500,000& * 18 » 1204 = 30,000
< 15,000
[ia 15,000
0 LY ESAH2H)
1,416,650& * 2H » 12042 34,000
< 17,000
[ia 17,000
201 YEt2 | 37,000 0 37,000
< 18,500
i 18,500
01 At 22l 24,000 0 24,000
0 HRUEANNAEH 29 24,000
o AQIEEANN =235+
170,000& * 100CH 17,000
= 8,500
i 8,500
o AN & & AUHER 2
700,000& = 103l 7,000
S 3,500
s 3,500
02 =224l 5,000 0 5,000
0 AOLESIO E=2018& 50,0008  100CH 5,000
< 2,500
[ia 2,500
03 &Ar2 Gl 8,000 0 8,000
0 HAaa 2 Z2H #HARY 8,000
< 4,000
e 4,000
202 Oddl 3,000 0 3,000
< 1,500
s 1,500
01 = LH 4 Hi 3,000 0 3,000
0 ARLIEIAN =& 0l 3,000

o ZHUHGHl 20,0008 = 2% = 52 « 1201 & 2,400
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s 20,308
FUsSSHaMNE 23 2,000 2,000 0
= 1,000
s 1,000
301 LEMZ 2,000 2,000 0
= 1,000
s 1,000
01 M2I2EZE+06l= 2,000 2,000 0
0 MASHOML & ZARElL XI&(159) 2,000
= 1,000
= 1,000
O EXDDl K& 2,651 2,870 A 219
= 2,121
i 530
301 LEPEXZ 2,651 2,870 A 219
= 2,121
e 530
01 MEIBEE 253 2,651 2,870 A219
0 ZoHel EX710 2,651
= 2,121
s 530
===k Zoi==& 196,393 233,286 A 36,893
= 137,475
s 58,918
301 LA F 196,393 233,286 A 36,893
= 137,475
[ia 58,918
01 Mel28E+dl= 196,393 233,286 36,893
0 U= (II=x) X 196,393
= 137,475
s 58,918
oo 232 X& 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T M SRASE EX 10,000 10,000 0
0 ZOHAE2EHR = 200,000& = 50CH 10,000
ZHUASZ 2,602,889 2,112,527 490,362
= 1,822,022
< 234,260
i 546,607
301 LA S 2,602,889 2,112,527 490,362
= 1,822,022
< 234,260
e 546,607
01 MEIBEE 2053 2,602,889 2,112,527 490,362
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0 Z0Hel ez (800 ) 2,602,889
= 1,822,022
< 234,260
s 546,607
TARAHE HOH=+E 165,771 163,569 2,202
= 116,040
[ 49,731
301 LA S 165,771 163,569 2,202
= 116,040
e 49,731
01 MEIBEE 263 165,771 163,569 2,202
0 ZU=L(Xtael 8) XA (304Y) 165,771
= 116,040
[ia 49,731
SHEM=E 30,000 28,800 1,200
< 9,000
s 21,000
301 LA F 30,000 28,800 1,200
< 9,000
i 21,000
01 MI28HE +06l= 30,000 28,800 1,200
0 SHIZM=E 20,000« 1259 = 12& 30,000
< 9,000
e 21,000
ZOUHeIA ESEE 2,808,694 2,207,686 601,008
= 1,455,425
< 324,982
s 1,028,287
ZOHOtsS XI& 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
11T M SRASE EX 5,000 5,000 0
0 ZOiols 22us K& (409) 5,000
Zoferoly At 20,000 20,000 0
307 21201 A 20,000 20,000 0
11T MISXASEX 20,000 20,000 0
0 ZOHelol & AKX MO S)
20,000,000& =« 14l 20,000
el BMSAA 1,768 2,472 AT704
< 884
e 884
301 LPEXZ 1,768 2,472 AT704
< 884
s 884
01 MEIBEZE 05z 1,768 2,472 AT04
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0 B0 EXRIF & HYLHINY (20F) 1,768
< 884
[ia 884
OO MEBONT X 15,660 17,320 1,660
< 7,230
i 8,430
301 LptR M3 660 2,320 A 1,660
< 330
e 330
01 MEIBEE 2063 660 2,320 A 1,660
0 BT Olsgddstes NE AL
10,0008 = 5.59% = 12& 660
< 330
s 330
307 glz2+ol & 15,000 15,000 0
< 6,900
i 8,100
11T MISRASEX 15,000 15,000 0
0 Ol&ROel JSESSDI(10) 4,000
< 2,000
s 2,000
0O AIZEOHC JI=THE WAL (EXLK)(343
) 5,000
< 2,500
s 2,500
0 ZOoHE M wat)|2t S5 (Zelstw)(33AHM) 6,000
< 2,400
[ia 3,600
ZEIHY TR0+ X 19,050 14,903 4,147
< 7,620
e 11,430
307 glz2+ol & 19,050 14,903 4,147
< 7,620
e 11,430
05 RIZt2E = 19,050 14,903 4,147
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< 7,620
s 11,430
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11T M3 SXASEEX 13,000 13,000 0
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307 21201 A 31,500 25,000 6,500
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o HZU=EXAIGCHE E22 M
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03 A2 Z Hl 6,420 6,420 0
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307 glz2+ol & 8,400 8,400 0
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0 NZZEOIE3 StASESO0E
5,000,000& = 14 5,000
0 XIMEOCIEs &otSUal
1,400,000 * 14 1,400
0 AIZEOCI EIXI&E0le & A
2,000,000& = 14 2,000
ZOHQUMEOSANAEHZSE 118,000 115,000 3,000
< 6,800
s 111,200
307 glz2tol & 118,000 115,000 3,000
< 6,800
s 111,200
10 M ZXNANEHI2IHE=X 118,000 115,000 3,000
0 ZOHQlMEOISARAH2E (1 A)
118,000,000 * 1JH 2 118,000
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KN MZOHel HoAld KNHH 2 55,000 55,000 0
< 16,500
s 38,500
307 glz2tol & 55,000 55,000 0
< 16,500
s 38,500
11T M SRAISE EX 55,000 55,000 0
O RIMEOHQIEHOASE XNBHEHSD(1HL)
55,000,000& * 1JH A 55,000
< 16,500
s 38,500
ZMHA=SNHHNEES 48,307 47,963 344
307 21201 A 48,307 47,963 344
03 QIZtHNHEB2LHEX 31,617 31,273 344
0 AIMEOMRSE 2 sts=ZXz 31,617
11T MISRASER 16,690 16,690 0
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0 s0telgsl st Xl=l  3,000,000& * 100 3,000
0 BHAUR23 dtsZ X3
6,000,000& = 104 6,000
AE L0 el 2 32,800 32,800 0
307 21201 A 22,000 22,000 0
11T MISXAISEEX 22,000 22,000 0
0 AFSHLIS0l Zeaie 2Z (1300 a) 22,000
402 QI2H X201 M 10,800 10,800 0
01 2IZF 2 A B (KR ) 10,800 10,800 0
0O AFZUHS0 e D101+
1,800,000 * 6H £ 10,800
LEMEAMEA HIRH™ K 58,320 75,600 A17,280
= 40,824
< 8,748
i 8,748
307 21201 A 58,320 75,600 217,280
= 40,824
< 8,748
[ia 8,748
05 BIZERI & 3 58,320 75,600 A 17,280
0 Z0iots Z2EMEMEIA
180,000& » 27H » 12&8 58,320
= 40,824
< 8,748
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O AIZEOHQ BHFEHWE(1IHA) 4,000
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11 ASI S XA E = 28,968 28,968 0
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oo sX=2n X 1,160,900 821,437 339,463
= 812,630
< 104,481
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= 812,630
< 104,481
i 243,789
05 RIZHRI &3 1,160,900 821,437 339,463
0 ZOel sX30H XA (56Y) 1,160,900
= 812,630
< 104,481
= 243,789
HEZMe SMHEXA 2,000 3,000 21,000
= 1,400
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[ia 420
301 LEPEAF 2,000 3,000 A 1,000
= 1,400
< 180
e 420
01 ALl EE E 563 2,000 3,000 A 1,000
0 HEEQ =4HIE X3
1,000,000 * 2% 2,000
= 1,400
< 180
= 420
Zoel AUASE L ASIHOHEH 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
11 AISI S XA E = 30,000 30,000 0
0 ZOHO! AUZE L ALEIE OIS H ALY
3,000,000& * 1090 AL 30,000
LIS FAESAHHA X2 126,857 33,839 93,018
= 88,800
< 19,028
e 19,029
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= 88,800
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= 69,034
= 14,793
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307 QI2t0| & 98,620 20,510 78,110
= 69,034
& 14,793
= 14,793
05 QIZtRES 98,620 20,510 78,110
0 HLZOQ BtNlS SEAMHIAXR(14Y) 98,620
= 69,034
= 14,793
= 14,793
O E=SXE M3 X 1,263 0 1,263
= 884
= 114
= 265
307 212t0| & 1,263 0 1,263
= 884
o= 114
= 265
05 QIZ2tREF 2 1,263 0 1,263
0 OIS S X JIM20 K (569H) 1,263
= 884
& 114
= 265
MNIE2IANE 29 2,817,711 2,895,744 A 78,033
= 1,208,945
& 373,591
= 1,235,175
O HZ=AE 29 A 1,727,364 1,725,264 2,100
= 1,208,945
& 155,526
= 362,893
307 2izto| A 1,725,264 1,725,264 0
= 1,207,685
& 155,274
= 362,305
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10 AL SXNAIEEE2EH EX 1,725,264 1,725,264 0
0 ZOHH=AIE 2L X2 (10HA) 1,725,264
=2 1,207,685
< 155,274
[ia 362,305
402 RIZ2tXt20l ™ 2,100 0 2,100
= 1,260
< 252
[ia 588
02 2IZt X2 AL EZ (OIS ) 2,100 0 2,100
0 HELAZO B ISRA(BIHHEI)
175,000& * 123l 2,100
= 1,260
< 252
[ia 588
SSTMHY NEH2XNJAME 29 170,000 140,000 30,000
< 51,000
[ia 119,000
307 2I2+0 & 170,000 140,000 30,000
< 51,000
[ia 119,000
11T MISRASEEX 170,000 140,000 30,000
0 ST NSMEX2AME 2 (XX EOH
oI 3l) 170,000
< 51,000
[ia 119,000
T=HSgHH 29 168,516 150,000 18,516
< 5,650
i 162,866
307 21201 A 168,516 150,000 18,516
< 5,650
e 162,866
10 ALSISXAIEEE2GHEX 168,516 150,000 18,516
0 20SgdH 2L (1) 168,516
< 5,650
s 162,866
LA FAHESHH 22 189,401 182,850 6,551
< 51,450
[ia 137,951
307 21201 A 189,401 182,850 6,551
< 51,450
[ia 137,951
10 AL SXNAIEEE2EHEX 189,401 182,850 6,551
0 2LEM FALSHH 29 XA (1HL) 189,401
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e 137,951
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ZONQIMICH Atdll 22l XI& 39,000 78,000 A 39,000
< 13,650
s 25,350
307 gl2tol & 39,000 78,000 A 39,000
< 13,650
s 25,350
11T AIS S RAEE = 39,000 78,000 A 39,000
0 SSHOHQIAMU Atedl 22l 29 XA (1Y) 39,000
< 13,650
= 25,350
ZOHA=SXAIE SAX== XA 124,800 169,000 A 44,200
< 37,440
e 87,360
307 glz2+0l & 124,800 169,000 A 44,200
= 37,440
i 87,360
10 ALSISEXAIEEE2EHEX 124,800 169,000 A 44,200
0 ZOHQISTAIL EAKSSX S (SRS AZY
& 2 50L) 124,800
= 37,440
e 87,360
AM2ZEe =AESHH 24 95,000 88,000 7,000
< 28,290
s 66,710
307 g1+l & 95,000 88,000 7,000
< 28,290
s 66,710
10 M SXNANEHI2IHE=X 95,000 88,000 7,000
0 AIZEOQ F2AESHE &9 X3 (1MA) 95,000
< 28,290
s 66,710
ZOHQIOIERNJAEEH XA 91,000 150,000 A 59,000
< 27,300
[ia 63,700
307 21201 A 91,000 150,000 259,000
< 27,300
[ia 63,700
10 ALSISXAIEEER2IHEX 91,000 150,000 259,000
0 ZOHCIIIEXZME 2F XA (2509 ) 91,000
= 27,300
i 63,700
Ol AF=AIE 224 2% 10,950 10,950 0
< 3,285
s 7,665
307 gl2tol & 10,950 10,950 0
< 3,285
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0 oAXZOIH 3o &8 ¢
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O Gt=sZMAUESHIE 2 XA
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ZOH Al EOH & AL 166,200 20,000 146,200
= 78,100
< 81,100
i 7,000
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< 3,000
[ia 7,000
402 RI2HXt20l ™ 10,000 10,000 0
= 3,000
s 7,000
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5,000,000& * 22t 10,000
< 3,000
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= 67,100
< 67,100
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206 M = Hl 13,000 13,000 0
= 10,400
= 780
= 1,820
01 X2 H| 13,000 13,000 0
0 NHEZ2ZAY 1,000,000 = 13)0HSH™ 13,000
= 10,400
= 780
= 1,820
301 dEtE M= 76,523 65,544 10,979
= 61,219
& 4,591
= 10,713
01 Al E& A 46 2 76,523 65,544 10,979
0 NHEZHZS(29Y) 76,523
= 61,219
&< 4,591
= 10,713
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= 830,848
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= 5,200
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